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SECTION – A  (1 mark each) 

1. If a=22 x 33 x 54 and b=23 x 32 x 5. HCF of a and b is 

 a) 90  b) 180  c) 360  d) 540 

2. The simplest form of 
36

144
 is ____________ 

3.  2 is a rational number or irrational number. 

4. Which of these is co-primes? 

 a) (14, 35) b) (18,25) c) (31, 93) d) (32, 62) 

5. The system kx – y = 2 and 6x – 2y = 3 has unique solution only.  
 Then k= ____________ 

SECTION – B (2 marks each) 

6. The product of two numbers is 1600 and their HCF is 5. Find the LCM  

 of the given numbers. 

7. Show that system of equations 3x – 5y = 7 and 6x – 10y = 3 has no  

 solution. 

8. If x – y = 2 and 
2

𝑥+𝑦
 = 

1

5
. Find x and y. 

SECTION – C (3 marks each) 

9. Find the value of k for which the system of equations kx + 2y = 3,  

 3x + 6y = 10 has unique solution. 

 

10. If  3 tan𝜃 = 1. Evaluate Cos2𝜃 - Sin2𝜃 

    OR 

 Prove that 
1−sin 60°

𝑐𝑜𝑠60°
 = 

tan 60°−1

tan 60°+1
 

SECTION – D (4 marks each) 

11. Solve by elimination method 

 x + y = a + b 

 ax – by = a2 – b2 

12. The sum of numerator and denominator of a fraction is 8. If 3 is 

added to both numerator and denominator, fraction becomes  
3

4
. Find 

fraction. 

    OR 

 Prove that 
sin 𝜃−2𝑠𝑖𝑛 3𝜃

2𝑐𝑜𝑠 3𝜃−𝑐𝑜𝑠𝜃
= 𝑡𝑎𝑛𝜃 


